
“JACOBY TRANSFERS”      After  Partner  Opens  1NT  

 1 NT (15-17) – 2NT (Invite)   = Good 8 to 9 points & No 4- or 5-card Major.

 1 NT – 3NT (Game)   = 10 points & No 4- or 5-card Major.

 1 NT – 2 Clubs = Stayman   = at least one 4-card Major.

 1 NT – 2 Diamonds = Transfer to 2 Hearts   = Opener must bid 2H.

 1 NT – 2 Hearts = Transfer to 2 Spades   = Opener must bid 2S.

 Weak Hands (0-7 hcp):   Transfer to my 5-card Major & Pass.

 Weak Hands (0-6 hcp):   Transfer to my 6-card Minor & Pass.
 

   1NT –   2 Spades   = Transfer to 3 Clubs  :  6- Clubs - Responder Passes.
                                6- Diamonds - Responder Corrects to 3D.

   With 6-card Minor & 7 hcp bid 2NT, & 8 hcp bid 3NT. 

 Invite Hands (8 to poor 9 hcp)  : Transfer to my 5  -card Major   & Bid 2NT.
 

1NT – 2D – 2H – 2NT - asks NT opener:

Pass with a minimum and only a doubleton heart.
Correct to 3H with a minimum and three or more hearts.
Bid 3NT with 16 and only a doubleton heart.
Bid 4H with 16 and three or more hearts.

 Game Hands (good 9 hcp)  : Transfer to my 5  -card Major   & Bid 3NT.
 

1NT – 2D – 2H – 3NT - asks NT opener:

Pass with only a doubleton heart.
Bid 4H with three or more hearts.

 Invite Hands (7 to poor 8 hcp)  : Transfer to my 6  -card Major   & bid 3 
Major.

 
1NT – 2D – 2H – 3H - asks NT opener:    (known 6-2 fit at least)

Pass with a minimum.
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Bid 4H with 16.

 Game Hands (good 8 hcp)  : Transfer to my 6  -card Major   & bid 4 Major.
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